MEF: US/IN(21009659/Tigf3 COF 2028 Sep ASSIGNMENT Veh No: SLF941SD Yr Regn: 20081846 From: Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover Estimated Cost: OD TO WS ITP RES I OD RES I EVA I INV I MV Truck / Trailer or Toyota Alps. . c.c 1+92 1794 To Inspect Vehicle No: Make: Insured / Std / NI / NA at Workshop m/s Colour T/Radlo: Insured / Std / NI / NA Sp.Reading Eng/No: Insured: MRO537EE 206/06520. C/No: Policy No. Gen. Cond: Good / Fair / Poor / Burnt Claims No. MT/1144754-001 Steering: Inorder / Jammed / Leaked / Burnt or Sum Insured: Excess: Brake; Inorder / Jammed / Leaked / Burnt or (Client's Record) Modi: Nil / StRim / STD A/Rim or Make of Veh: Tyre Size: (Policy Condition) BS / DUN / EXNOVA / GY / FS / LIZA / MIC / OHTSU / PIR / SUMI / NIS OIS Remark: The veh had commenced its repair at the time of inspection. TOYO / YOKO OF Bal. or Market Value: 444K Rear Front R/Bal. Consistent? : Yes or No IDAC Accident Rport: L/Bal. Consistent?: Yes or No GIA / PR Seen: D.O.A. Res.: Yes or No 20 days Est. Repairs: 3 Val.: Yes or No Survey held at Lum Sum: Des. of Damages: Fr. / Reer / O/S / N/S / U/C / Rooftop or CA / REV / REP. / 24 HRS Vehicle: IN / OUT The U/C / Chassis frame / Body Structure affected due to collision. Person Contacted: Date: Action / instruction Date / Time Taufikh finalised LS \$16000, 20 days. (Red \$39689, 71%) Days Of Repair: 20 Date/Time, File Pass to? : Preli. Report Survey Fee: Resurvey No. of Trip: : Final Report 1) 26/04 Typist Transportation: Date/Time, File Return to? S+RS. Add Fee: : Site Insp (\$: Interview (\$ Photos Tech. Invs (\$ Others Reperior Formai: : Weel and (\$ Lunin Sum / HE H. C. 16000 TOTAL



Rico 60 Auto Services Pte Ltd Blk 8 , Kaki Bukit Avenue 4 , #02-24 Premier @ Kaki Bukit Singapore 415875

Email: claims@rico60.com Tel: 6286 6060 Fax : 6286 7060

TO: NTUC
Vehicle No : SLF 9415 D
Make & Model : TOYOTA ALTIS

RICO Office Use Only

20K

LKK

	Make & Model: TOYOTA ALTIS		LVY	-			
	DATE: 15/9/2021		QTY		T PRICE	PRIC	E
No.	DESCRIPTION - PARTS		1	\$	1,036.20	\$6(1,0	36.20
1	BONNET		1	\$	372.40	Ψ /	372.40
2	BONNET INNER LOCK		1	\$	237.20	Ψ ,	237.20
3	BONNET LOCK CABLE		2	\$	30.00	\$ mg	60.00
4	BONNET STOPPER		1	\$	106.10	Ψ,	106.10
5	BONNET RUBBER		1	\$	217.30	Ψ	217.30
6	BONNET INSULATOR		1	\$	226.30	T	226.30
	BONNET STAND		2	\$	247.90	Ψ	495.80
8	BONNET HINGE		2	\$	738.50	sar 1	
	HEAD LAMP		4	\$	50.00	\$ n4	200.00
1	0 HEAD LAMP BOTTOM RETAINER		1	\$	681.70	\$de	681.70
1	1 FRONT BUMPER		1	\$	120.00	\$?	120.00
1	2 FRONT BUMPER TOP RUBBER		2	\$	94.30	\$ ner	188.60
1	3 FRONT BUMPER SIDE RETAINER		1	\$	96.00	\$ neg.	96.00
1	4 FRONT BUMPER BADGE		1	\$	124.00	-	124.00
-	FRONT BUMPER BADGE BASE	VIT.	1	\$	480.10		480.10
	16 FRONT BUMPER REINFORCEMEN	NT BRACKET	2	\$	82.00	\$?	164.00
	17 FRONT BUMPER REINFORCEME	VI DIVIONE:	1	\$	235.00		235.00
	18 FRONT BUMPER LOWER GRILLE		1	\$	271.00		271.00
	19 FORNT BUMPER UNDER COVER		2	\$			700.00
	20 FRONT FOG LAMP		2	2 \$	97.20		194.40
	21 FRONT FOG LAMP COVER	OULDING		2 \$	45.60		91.20
	22 FRONT FOG COVER CHROME M	0020		1 9	438.0	1	
	23 FRONT GRILLE	DING(SHORT)		2	96.0		192.00
	24 FRONT GRILLE CHROME MOULI	DING(LONG)		1 :	\$ 136.0	1 1	136.00
	25 FRONT GRILLE CHROME MOUL	22		1	\$ 1,425.0	10 \$ht	1,425.00
	26 SUPPORT PANEL						

						\$ 7	400.00
07 1	BRACE PANEL		1	\$	188.00	Ψ.	188.00
			2	\$	120.00	\$?	240.00
	HORN		1	\$	322.00	\$?	322.00
29	BATTERY TRAY BATTERY TOP BRACKET		1	\$	122.00	\$ 7	122.00
			1	\$	1,211.00	\$?	1,211.00
	ALTERNATOR BELT		1	\$	133.00	\$?	133.00
	ALTERNATOR BELT		1	\$	644.10	\$ 7	644.10
	FUSE BOX ASSY		1	\$	814.20	\$ 7	814.20
	INTAKE MANIFOLD		1	\$	1,109.50	\$?	1,109.50
35	RADIATOR		1	\$	317.00	\$?	317.00
36	RADIATOR TOP GARNISH		2	\$	65.00	\$7	130.00
37	RADIATOR TOP BRACKET		1	\$	297.50	\$ 7	297.50
38	RADIATOR FAN COWLING		1	\$	357.90	\$ 7	357.90
39	RADIATOR FAN MOTOR		1	\$	87.90	\$ 7	87.90
40	RADIATOR FAN BLADE		1	\$	890.10	\$ 9	890.10
41	AIR CON CONDENSER		1	\$	432.00	. 0	432.00
42	AIR CON PIPE		1	\$	397.00		397.00
43	AIR CON SUCTION PIPE			\$			411.00
44	AIR CON DISCHARGE PIPE		1	\$		7 4	125.30
	WASHER TANK		1	\$			
46	WASHER TANK MOTOR		1			. 1	
4	FRONT FENDER		2	-		- /4	
15	R FRONT FENDER EMBLEM (VVTI)		2				294.00
4	FRONT FENDER INNER SIDE GARN	IISH	2				
5	FRONT FENDER INNER SHILED RH	- /	2		845.0		× 845.00
	1 WIPER GARNISH		1		\$ 98.0		
	2 WIPER SIDE GARNISH		2		\$ 887.0		R 1,774.00
5	3 FRONT DOOR		2		\$ 45.0		
5	4 FRONT DOOR FRAME BLACK STIC	KER	-		\$ 199.6		
F	5 FRONT DOOR OUTER MOULDING						The service
	6 FRONT DOOR HINGE		-		•	and the man	1
į	7 FRONT DOOR PROTERTOR		_		·		
1	58 FRONT DOOR INNER LOCK		_	2	Ψ	-	
	59 FRONT DOOR WEATHERSTRIP			2	·		1
	50 SIDE SKIRT		_	2	\$ 769.0		1,792.20
	E1 PEAR DOOR	IHMI-KMX	<u> </u>	2	\$ 896.		180.00
	62 REAR DOOR FRAME SIDE BLACK	STICKER NO	1	4	\$ 45.0	-	
	63 REAR DOOR OUTER MOULDING			2	\$ 198.		
	64 REAR DOOR PROTERTOR		-	2	\$ 185.		× 933.80
	65 REAR DOOR INNER LOCK			2	\$ 466.	-	
	66 REAR DOOR LOCK CATCH	#10 / /	12	2	\$ 56.	-	
	67 REAR DOOR WEATHERSTRIP	Attru/RI	17	2	\$ 198		390.00 × 1,516.20
	68 REAR DOOR INNER TRIM			2	\$ 758	.10 \$	1,510.20

				700.50	\$ ht 798.50
69 BOOTLID		1	\$	798.50	4 // [
70 BOOTLID LOGO		1	\$	89.00	Ψ
71 BOOTLID EMBLEM (COROLLA)		1	\$	87.60	Ψ 07.00
72 BOOTLID EMBLEM (ALTIS)		1	\$	85.40	Ψ
73 BOOTLID EMBLEM (1.6)		1	\$	54.00	
74 BOOTLID EMBLEM (VVTI)		1	\$	68.80	7
75 BOOTLID OUTER CHROME MOULDING		1	\$	317.80	\$ 7 317.80
76 BOOTLID CAR PLATE LAMP		2	\$	49.00	\$ × 98.00
76 BOOTLID CAR FLATE E		2	\$	431.00	\$cra 862.00
77 BOOTLID REFLECTOR		1	\$	317.50	\$ 6 7 317.50
78 BOOTLID INNER LOCK		1	\$	35.00	\$ × 35.00
79 BOOTLID LOCK CATCH		1	\$	198.10	\$ and 198.10
80 BOOTLID WEATHERSTRIP		2	\$	198.00	\$ ht 396.00
81 BOOTLID HINGE		1	\$	654.60	\$ de 654.60
82 REAR BUMPER		2	\$	89.10	\$4/178.20
83 REAR BUMPER SIDE RETAINER	IFR	2	\$	76.30	\$ My 152.60
84 REAR BUMPER ATTACHMENT RETAIN	ILIX	2	\$	86.00	\$m14 172.00
85 REAR BUMPER REFLEXTOR		2	\$	166.50	\$ re 333.00
86 REAR BUMPER BRACKET	L SPONGE	1	\$	359.80	\$ 359.80
87 REAR BUMPER REINFORCEMENT BAR WITH	SPONOL	2	\$	479.60	\$ 959.20
88 TAILLAMP		2	\$	55.00	\$ we 110.00
89 TAILLAMP LOWER BRACKET		2	\$	185.00	\$hu 370.00
90 TAILLAMP PANEL		2		1,054.00	\$bu(-2,108.00
91 REAR FENDER		2		199.30	6
92 REAR FENDER TOP RAILING PANEL		2		654.00	\$ <i>R</i> ≥ 1,308.00
93 REAR FENDER WHEEL HOUSING		2		315.00	\$ 7 630.00
94 REAR FENDER INNER TRIM		2		96.00) \$m/3/192.00
95 REAR FENDER INNER SHIELD		1		295.30	0 \$ Mg 295.30
96 REAR WINDSCREEN MOULDING				60.0	0 \$46 60.00
97 REAR WINDSCREEN INNER SEAL		-	-	97.8	1-1- 07-00
98 FUEL LID COVER	•	_	1 \$	214.0	0 \$? 214.00
99 FUEL LID COVER LOCK WITH CABLE		_	1 \$	355.2	0 \$ 7 355.20
100 FUEL HOSE		_	1 \$	POTENCIA A	1/ = 1100
101 REAR END PANEL		-	1 \$		
102 REAR END PANEL TOP GARNISH		-	1 \$. / ===== 10
103 REAR FLOOR PANEL			1 \$		
104 REAR FLOOR PANEL TOP BOARD			1 9	11 10 10 10 10 10 10 10 10 10 10 10 10 1	2
105 SPARE TYRE WHEEL NUT	TUBA-RHR	V		624.	
106 REAR CHASSIS FRAME MEMBER	MINISTER STATE	/	_	896.	// 222.00
107 REAR EXHAUST PIPE BOX		+		\$ 854.	0 0=100
108 REAR EXHAUSTCENTER PIPE		+	-	\$ 38.	- /4 - 70.00
109 REAR EXHAUST MOULTING				\$ 114.	1 1
110 REAR EXHAUST INSULATOR			1	φ 114.	υ ψ το γ το
110 110					

	1	\$	7	26.30	\$	7 7	26.30
11 CENTER EXHAUST PIPE	1	\$		77.20	\$? 7	54.40
12 REAR ABSORBER	2	17.00		58.00	\$	7 9	16.00
13 REAR WHEEL BEARING	2	\$			\$	1	16.00
14 REAR AXLE BEAM	1	\$	1,2	16.00	Ψ	(1,2	. 10.00
14 REAR AXLL BE, III							
			-	1.4.4.1.	œ.	5/	,772.00
				ibtotal:	\$,693.00
				ess 25%	-		
			010,000	s Total :	\$,079.00
SPECIAL NETT	QTY	1	I TINU	PRICE		PRI	
NO I	1	\$		60.00	1		60.00
1 BONNET INSULATOR CLIP	1	\$	5	30.00			30.00
2 BONNET RUBBER CLIP SET	1	\$	3	60.00			60.00
3 FRONT CAR PLATE	1	9	3	50.00	\$	3 Janes	50.00
4 FRONT BUMPER CLIP SET	1	9	6	40.00	\$		40.00
5 FORNT BUMPER UNDER COVER CLIP SET	1	_	5	30.00	9	5 ×	30.00
6 FRONT FOG LAMP BULK	1	_	\$	40.00	9	·	40.00
7 FRONT GRILLE CLIP SET	1	_	\$	70.00		Ψ -	70.00
8 SUPPORT PANEL SEALANT	1	- 1	\$	60.00			60.00
9 RADIATOR COOLANT	1	_	\$	40.00) :	\$ K	40.00
40 EBONT FENDER INNER SIDE GARNISH CLIP	1		\$	50.00)	\$ 10h	50.00
11 FRONT FENDER INNER SHILED CLIP SET	1	_	\$	50.00	0	\$ X	50.00
12 WIPER GARNISH CLIP			\$	60.00	0	\$ 400	60.00
12 SIDE SKIRT CLIP			\$	50.00	0	\$ X	50.00
14 FRONT DOOR INNER TRIM CLIP SET		1	\$	50.00	0		4/50.00
15 REAR BUMPER CLIP		1	\$	60.0	0	\$450	60.00
16 REAR CAR PLATE		1	\$	30.0	0	\$19,	30.00
17 TAIL LAMP CLIP		1	\$	80.0	0		× 80.00
18 TAILLAMP PANEL SEALANT		1	\$	80.0	00	\$ 600	4/80.00
19 REAR FENDER SEALANT		1	\$	60.0	00	\$ ×	60.00
20 REAR FENDER TOP RAILING PANEL SEALANT		1	\$	60.0	00	\$ 7	60.00
21 REAR FENDER INNER TRIM CLIPS		1	\$	50.0	00	\$ 30	50.00
22 REAR FENDER INNER SHIELD CLIP		1	\$	80.0	00	\$ 60	W 80.00
23 REAR WINDSCREEN SEALANT		1	\$	30.0			30.00
24 REAR END PANEL TOP GARNISH CLIPS		1	\$	120.0	00	4 0	v 120.0
25 DEAR FLOOR PANEL INSULATION SEAL		1	\$	80.		\$50	w 80.0
26 REAR CHASSIS FRAME MEMBER SEALANT		1	\$	350.	_	\$200	M 350.0
27 REVERSE SENSOR		1	\$	550.		\$ 35	550.0
28 REVERSE CAMERA			Ψ_	303.			
						\$	2,370.0

LABOUR (FRONT)		PRICE
	1000 5	\$ 2,000.00
PANEL BEATING, REMOVAL AND REPLACING PARTS	1200	\$ 1,800.00
TO SPRAY PAINT AFFECTED AREA	30	\$ 100.00
TO PERFORM LIGHTING & WIRING CHECK	,	\$ 200.00
THE VOTE		400.00
REMOVE AND INSTALL RADIATOR AND REFILL COOLAN PRESSURE TEST	AND HIGH	\$ 180.00
	DININTERIOR	\$ × 350.00
REMOVE AND INSTALL CARPET ,SEAT,DASH BOARD AN	DINNTERIOR	\$ 100 150.00
REMOVE AND INSTALL CONDENSER AND REFILL AIRCO	IN GAS	\$X 180.00
REMOVE AND INSTALL FRONT DOOR PART		
NEW VE 7 11 12 12 12 12 12 12 12 12 12 12 12 12		PRICE
LABOUR (REAR)	2.00	
PANEL BEATING, REMOVAL AND REPLACING PARTS	2000	
A F F F A F F F A P F A	1800	\$ 2,000.00
TO SPRAY PAINT AFFECTED AREA REMOVE AND REFIX CUSHION SEAT AND INTERIOR TO	FACILITATE	\$ 60 350.00
DEDAIR		\$ 30 150.00
DEMOVE AND REFIX REVERSE SENSOR AND DISTANC	E SETTING	\$ 3 0 150.00
REMOVE AND REFIX REVERSE CAMERA AND DISTANC	E SETTING	4
REMOVE AND INSTALL REAR DOOR PART		+ 00
REMOVE AND INSTALL REAR WINDSCREEN	7 01.1	\$ (20. 250.00
REMOVE AND INSTALL REAR ANF CENTER EXHAUST	7 plus	\$ 80 550.00
REMOVE AND INSTALL REAR UNDER CARRIAGE	? photo	\$200 600.00
REMOVE AND INSTALL REAR CHANISM	1	\$60 150.00
TRANFER BOOTLID MECHANISM		\$ 30.100.00
CONDUCT WATER LEAKAGE TEST		\$ 60 150.00
REMOVE AND REFIT FUEL TANK		\$ 80 150.00
TO CHECK FOUR WHEEL ALIGHMENT	LABOUR TOTAL	\$ 12,240.00
LKK Auto Consultants hence notify		
the Repairer of the following: To resurvey before/after spray painting	Total Parts Cost	\$ 43,449.00
To display damaged part(s) during resurvey	Total Labour Cost	\$ 12,240.00
Parts prices are subject to confirmation Third party survey is on a "Without Prejudice" basis	Total Repair Cost	\$ 55,689.00
No illegal modification(s) is allowed	. 2.1.4	
is subject to final approval from Insurance Company) H)	
APPROVED DETAILS NO. OF WORKING DAYS NO. DANT BY BARTON I LIMP SUM)749 1/7181745 He vepal	
PART BY PARTIOR LUMP SUM	to rela	

NO. OF WORKING DAYS
PART BY PART OR LUMP SUM
DATE & TIME OF SURVEY
SURVEYED BY
CONTACT NUMBER
FAX NUMBER

Jo Chenh report limit.

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars
Owner ID Type:
Owner ID:
Vehicle Details
Vehicle No.:
Vehicle to be Exported:
Intended Deregistration Date:
Vehicle Make:
Vehicle Model:
Primary Colour:
Manufacturing Year:
Engine No.:
Chassis No.:
Maximum Power Output:
Open Market Value:
Original Registration Date:
First Registration Date:
Transfer Count:
Actual ARF Paid:
Intended PARF Rebate Details
PARF Eligibility:
PARF Eligibility Expiry Date:
PARF Rebate Amount: Intended COE Rebate Details
COE Expiry Date:
COE Category:
COE Period(Years):
PQP Paid:
COE Rebate Amount:
Total Rebate Amount:
The information contained herein is correct as at 14 Sep 202

Singapore NRIC
852J
SLF9415D

No 14 Sep 2021 TOYOTA

COROLLA ALTIS 1.8 AUTO

Beige 2008 1ZZ4780048 MR053ZEE206106520 97.0 kW (130 bhp) \$19,246.00 12 Sep 2008 12 Sep 2008

\$19,246.00

Forfeited \$0.00

11 Sep 2028 B - Car (1601cc & above) \$33,377.00 \$23,340.00

\$23,340.00

ОК

LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- · Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

"ate:

SGCARMART.COM

Login Sign up

New Cars

Used Cars

Rental Cars

Sell My Car

Directory

Products

Insurance

Articles

Forum

Resources

Cheap Car Insurance Renewal

Is your car insurance expiring soon?

Receive best quotations from multiple insurers in as little as 2 hours.

Toyota Corolla

> 10 year(s) old 🗸

Vehicle Type

· C

Home » Used Cars » 1axis » Toyota Corolla Altis 1.6A (COE till 07/2028)

Toyota Corolla Altis 1.6A (COE till 07/2028)

Overview

Financial

Accessories

Similar

Research

Photos

Мар

\$43,800 Price

\$6,390 /yr Depreciation 🗇

Reg Date

21-Jul-2008

(6yrs 10mths 6days COE left)

Mileage

53,844 km (4.1k /yr)

Manufactured 🕥

2008

Road Tax

\$1,039 /yr

Transmission

Auto

Dereg Value

\$25,466 as of today (change)

OMV ARF

\$16,777 \$16,777

Engine Cap

COE

1,598 cc

\$37,165

80.0 kW (107 bhp)

Curb Weight

1,195 kg

No. of Owners

Type of Vehicle

Mid-Sized Sedan

1.6L Fuel Efficient 16 Valve DOHC Dual VVT-i Engine, Smooth Auto Transmission With ECT, Dual SRS Airbags, ABS, Digital Climate Control, 4x Disc Brake. View specs of the Toyota Corolla Altis (2008-2013)

Leather Seats, Sports Rim, Reverse Sensor, Retractable Side Mirrors, Multi Function Steering Wheel, Fog Lights.

. 100% Loan Available/Normal Bank Loan. 1 Owner Only! Full Servicing Records, Superbly Low Mileage Till Date! Reliable Toyota Sedan. Call Now For Viewing. Trade In Welcome!

Category

COE Car, Low Mileage Car

Available for sale. Shortlist this car to get alerted whenever the price or availability changes.

Resources



Vehicle Evaluation

Afraid of lemons? Request to have this car evaluated professionally. Find out more

Valuation - Free

https://www.sgcarmart.com/used_cars/info.php?ID=1028671&DL=2690











Shortlist

Compare

Report Error

More

Seller Information

169 vehicles for sale. 96 sold in past 3 mths

5 Yishun Industrial Street 1 #01-18 North Spring Bizhub Search cars nearby

Catherine Lee Malcom Chia Jack

Kervin Chia

90019707 96876257 @

84306433 🕲 88113768 @

SY09219E0006 / YEW TEE AUTOMOBILE TECH PTE LTD [737856] ENTRY DATE & TIME: 14/09/2021 17:41 (SGT) SUBMITTED BY: TOH TZE CHANG VERSION: 1 (14/09/2021 17:41 (SGT))



SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

- 1. Prease report <u>correctly</u> the details of the accident to speed up the claims process.
 2. This Form must be <u>completed by the Policyholder and/or the Authorised Driver</u>
 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate
- 5. Information provided made of the part of the insurance companies is not an admission of policy liability on the part of the insurance companies.

 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy hability on the part of the insurance companies.

 5. Any false reporting may be referred to the Police for investigation.

 6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.

 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

ACCIDENT STATEMENT

Date of Submission Date of Accident **Exact Location of Accident** Additional Location Information Country/State of Loss

14/09/2021 17:41 (SGT) 14/09/2021 08:30 (SGT) Singapore PIE (CHANGI) AFTER WHITLEY / STEVEN RD EXIT Singapore

DETAILS OF OWN VEHICLE

Vehicle Registration Number

SLF9415D

INSURED/POLICYHOLDER

Is company? Name Of Registered Owner NRIC No **Email Address**

Mobile Phone No Alternative Phone No No YAP SIEW KEOW SXXXX852J

MICHELLEYAPSK@GMAIL.COM (Phone) +65-92716277 (Home) +65-92716277

VEHICLE PARTICULARS

Manufacturer Model

Variant Exact purpose for which vehicle was being used at time of Are you claiming under your own insurance policy for repair to

your vehicle? Vehicle Category Transmission

CC

Toyota Axio

Private use

No - Claiming third party Private car

Auto 1500

INSURANCE COMPANY

Name of Insurance Company Type of Coverage Fleet Policy Policy Number Cover Note Number

AXA Insurance Pte Ltd Comprehensive

No

GA535541/1

DRIVER

Name of Driver NRIC No

YAP SIEW KEOW SXXXX852J



Accident report SY09219E0006

Page 1 of 16

05/03/1967 Date Of Birth Indoor Occupation 14/02/1990 Date Of Driving Pass 31 YEARS AND 7 MONTHS Driving experience Female Gender (Phone) +65-92716277 Mobile Number (Home) +65-92716277 Alt. Phone Number MICHELLEYAPSK@GMAIL.COM **Email Address** BLK 98 PASIR RIS DR 4 #06-27 Address Address complement 519464 Postcode Yes Is the driver the policyholder? If No, Relationship of the Driver with the Insured No Does Driver Own Other Vehicles? Vehicle Registration Number of Other Vehicle Owned by Driver Insurance Company of Other Vehicle Owned by Driver GENERAL INFORMATION OF THE ACCIDENT Chain Collision Type of Accident Clear Weather Conditions Dry Road Surface OTHER INFORMATION Was any foreign vehicle involved in the accident? No Number of vehicles involved in the accident 5 Yes Was anybody injured in the Accident? Was any injured conveyed to hospital by ambulance? No Was any other vehicle or property damaged? Yes Number of Passengers (Including Driver) 1 Has the driver been approached by unknown person(s) No soliciting/offering accident claims assistance? DETAILS OF POLICE ACTION No Was the accident reported to the police? Was notice of intended Prosecution given? No If yes, against whom? CIRCUMSTANCES OF ACCIDENT REFER TO ATTACHED ATTACHMENT(S) Are accident photos available for attachment? Yes No Was there any video captured by Car Camera? No Was there any audio recorded? DETAILS OF OTHER VEHICLE PROPERTY 1 SKA2022M Vehicle Registration Number Vehicle Manufacturer Vehicle Model Vehicle Variant Vehicle Colour Private car

Accident report SY09219E0006

Vehicle Category Name of Driver Contact Number Address

Address complement

Page 2 of 16

Postcode
Insurance Company Name
Nature Of Damage
Details of property damaged in accident
No. Of Passenger (Including Driver)

DETAILS OF OTHER VEHICLE PROPERTY 2

SFN3638X Vehicle Registration Number Vehicle Manufacturer Vehicle Model Vehicle Variant Vehicle Colour Private car Vehicle Category Name of Driver Contact Number Address Address complement Postcode Insurance Company Name Nature Of Damage Details of property damaged in accident No. Of Passenger (Including Driver)

DETAILS OF OTHER VEHICLE PROPERTY 3

SGB3566X Vehicle Registration Number Vehicle Manufacturer Vehicle Model Vehicle Variant Vehicle Colour Private car Vehicle Category Name of Driver Contact Number Address Address complement Postcode Insurance Company Name Nature Of Damage Details of property damaged in accident No. Of Passenger (Including Driver)

DETAILS OF OTHER VEHICLE PROPERTY 4

SHA597U Vehicle Registration Number Vehicle Manufacturer Vehicle Model Vehicle Variant Vehicle Colour Taxi Vehicle Category Name of Driver Contact Number Address Address complement Postcode Insurance Company Name Nature Of Damage Details of property damaged in accident No. Of Passenger (Including Driver)

INJURED PERSONS DETAILS

INJURED 1



Name of injured person
Gender
Phone No
Address
Address Complement
Post Code
Approximate Age Years Old
Injuries Sustained
Injured person in which vehicle?
Were seat belts worn?
Was this injured conveyed to hospital by ambulance?

YAP SIEW KEOW Female

- 7
- _
- -
- -
- SLF9415D

Yes No

SKETCH PLAN

IMPORTANT NOTICE

- Please report correctly the details of the accident to speed up the claims process.
- This Formmust be completed by the Policyholder and/or the Authorised Driver.
- 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or withholding of material facts may allow insurance companies to repudiate policy liability.
- 4. The issue and acceptance of this Formby insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5. Any false reporting may be referred to the Police for investigation.
- 6. The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association
- of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

I understand, acknowledge, agree and consent that

- (a) My insurer , my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the Insurers' law yers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of
- (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims:
- (ii) investigating the accident and/or my claims;
- (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me;
- (iv) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
- (v) complying with applicable law in administering, processing, handling and/or dealing with my claims.

- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the insurers' law yers/law firms, may/are permitted to collect, use, disclose and/or process my Personal Information for one or more of the above Purposes; and
- (c) my Personal Information may/can be disclosed by any of the insurers and/or GIA to their third party service providers or agents (including their law yers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes

Driver's Signature (# driver is not the policyholder) / Date eporting Centre ture / Date & Personne & Time Sketch Plan Idnia A. SLF9415D Which B: SKA 2022M Jehim C. SFN3638X which p-SGB3566X Value E: SHA 5974

ON THE STATED DATE AND TIME. I, VEHICLE A (SLF9415D)
WAS TRAVELLING STRAIGHT ON THE STATED VENUE. WHEN
THE FRONT VEHICLE JAMMED BRAKE I FOLLOWED SUIT
MANAGE TO STOP IN TIME WITHOUT HAVING ANY
COLLISION WITH THE FRONT VEHICLE. SUDDENLY I FELT A
HUGE IMPACT FROM THE REAR PORTION OF MY VEHICLE.
THE IMPACT CAUSE MY VEHICLE TO PROPEL FORWARD AND
COLLIDED ONTO VEHICLE C (SFN3638X) REAR PORTION.
AFTER I ALIGHTED I THEN REALISE THAT IS VEHICLE B
(SKA2022M) THAT HAD COLLIDED ONTO MY VEHICLE. I WISH
TO STATE THAT THIS IS A 5CARS CHAIN COLLISION.

VEHICLE A: SLF9415D

VEHICLE B: SKA2022M

VEHICLE C: SFN3638X

VEHICLE D : SGB3566X

VEHICLE E : SHA597U

cribe Circumstances of the Accident		
	7	
		_
	N	
	1	
	- V	
	\ A	
	N A	
	Y	
		_
	MA.	
	110	
. [
100		
, , ,		
/U X)		
/		
The second secon		

Declaration

We declare the foregoing particulars are true in every respect

Driver's Signature (If driver is not the policyholder) / Date & Time

Witnessed by Reporting Centre Personnel